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Cluster: 0141 ptr; resid: 0.51; r/c: 23/76

x.range

upstream meme PSSM #1; e=1.3e+04
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upstream meme PSSM #2; e=3e+04
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35442

35662
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37057
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38409

38903

39484
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44262

44517
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46929
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−500 −400 −300 −200 −100 −1
39703NA
41939NA
37057−0.01
54405−0.06
39484−0.08
44262−0.11
37400−0.20
26405−0.21
45324−0.23
35662−0.25
44517−0.27
46486−0.32
35939−0.68
47072−0.79
33729−0.80
46929−0.81
47785−0.82
34626−1.02
38903−1.03
38409−8.00
34132−8.11
35442−20.60
37297−20.60

log10(P) upstream meme1 2 log10(P.clust)=−3.10; 23 seqs; 22 uniq
c(0.5, 2.5)
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